AlInod BK
Barometer - RealBridge 2022-01-12

Partavling, 3 bord, 6 par. Antal brickor: 25. Medel: 50.0.

Plac Par  Poéng % Namn MID Klubb
1 3 65.2 65.18  Johan Pettersson - Elisabeth Jonasson 3411 57457  H&rnd BS - Alné BK
2 4 51.6 51.62  Per Jansson - Kent Backstrom 12635 11196  Aln6 BK
3 2 51.0 50.98  Egon Bohman - Sven-Olov Hellgvist 8217 13984  Alnd BK
4 1 48.9 48.92  Jouko Tokkari - Mia Silvergren 3708 50028 Botkyrka BS
5 6 44.1 44.07  Lars-Anders Svensson - Yngve Sundberg 1502 3711 BK Freja - Alnd BK
6 5 39.2 39.24  Sven-Arne Staflund - Tommy Lindgvist 47016 8248 Harn6 BS
1 4 K72 Basta kontrakt 2 4 D82 Basta kontrakt 3 4 E10 Basta kontrakt
Nord v E10643 54 N =450 Ost v2 5v O D -3500 Syd v K742 44 S =420
Ingen ¢ E7 NS ¢ EDKn2 ov 492
#E102 & ¢ v & NT #E9872 & ¢ v & NT #EKD97 & ¢ v & NT
« D94 » Kn85 N 10119 119 4 K54 » 106 N 10115 107 K84 & 532 N 115 7 108
vKKn95 D872 S 10119 119 vK98654 v EDKnN10 S 10115 107 v Kn6 vD10953 S 115 7 108
+ D64 ¢ Kn9 022422 + K83 ¢ 1064 022823 ¢ EKD54 410763 0176 34
£765 +D984 V21422 +10 #Kn543 v22823 #1032 #4 V17634
4« E1063 & EKn973 « DKn976
v- v73 vE8
+ K108532 4975 + Kn8
#KKn3 *KD6 #Kn865
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
56 3NN+2 &4 460 4.0 0.0 1 2 34S+2 &T 200 4.0 0.0 3 4 34S+1 K 170 4.0 0.0
1 2 3NN+1 &4 430 1.0 3.0 5 6 34 S+1 &T 170 2.0 2.0 12 3&S+1 vJ 130 1.0 3.0
3 4 B3NN+1 4J 430 1.0 3.0 3 4 54 S-3 &T -300 0.0 4.0 56 4 N= +3 130 1.0 3.0
4 # Kn53 Bésta kontrakt 5 4 D1075 Bésta kontrakt 6 « EDKn94 Bésta kontrakt
Vast v EK865 ANT N =630 Nord v KKn6 4v O =-420 Ost v K65 44 S =130
Alla + 106 NS 4108632 ov .-
#Kn83 & ¢ v & NT »8 & ¢ v & NT #KKn1085 & ¢ v & NT
«EDS8 #9642 N9 6 108 10 2 KKn63 4E8 N35354 483 » K10765 N 108 7 8 8
v74 v Kn93 S 9 7 108 10 vE972  v10543 S35354 vD1032 vE84 S 108 7 8 8
¢ 742 ¢ DKn953 046 353 + KD9 ¢ EKn O 108 108 9 ¢ES532 ¢ D104 035655
#K10972 &5 V46 353 £92 #EKNn1054 V 9 8 108 9 #632 *D4 V35655
4 K107 4942 a2
vD102 vD8 v Kn97
+ EK8 ¢ 754 + KKn9876
*ED64 #KD763 *E97
Par  Kontr ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr ut Res  Poang
3 4 3NS+1 ¢2 630 2.0 2.0 12 4v0-= a4 -420 3.0 1.0 51 3NS+2 v2 460 40 0.0
56 BNS+1 &7 630 2.0 2.0 34 4v 0= a4 -420 3.0 1.0 3 2 3NS-1 v2 -50 2.0 20
12 A=/A= 20 20 56 4v0+1 «#K -450 0.0 4.0 6 4 5#N-2 vA -100 0.0 4.0
7 & K7543 Bésta kontrakt 8 & KKn9 Bésta kontrakt 9 & Kn854 Bésta kontrakt
Syd vD8 24 S =110 Vast v KKn76 6NT N =990 Nord v KD5 3v O =-140
Alla ¢ Kn7 Ingen + DKn53 ov +94
+D1097 & ¢ v & NT #98 & ¢ v & NT #D986 & ¢ v & NT
98 « D6 N54886 # 832 #1075 N 9 12101212 D72 4963 N7 4475
v 752 v EK9 S54886 vD10943 vE52 S 9 12101212 v1076 vEKn42 S74475
¢+ D9864 ¢ EK102 078557 + 107 +82 041311 + D872 ¢ EKKn3 06 9967
#854 #KKn62 V78557 #1065 #KKn732 V41311 #K54  &Kn7 V69967
« EKn102 « ED64 « EK10
v Kn10643 v8 v 983
+53 + EK964 41065
*E3 «ED4 «E1032
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
51 2NO-1 v] 100 3.0 1.0 3 2 66 N= +8 920 4.0 0.0 32 INO= *2 90 2.0 20
6 4 2NO-1 a2 100 3.0 1.0 51 3NS+2 v4 460 2.0 20 51 26 0= +6 90 2.0 20
32 20V= vQ -90 0.0 4.0 6 4 60 N-1 oT -50 0.0 4.0 6 4 INV= a4 90 2.0 20
10 & E542 Bésta kontrakt 11 « DKn10 Bésta kontrakt 12 492 Bésta kontrakt
Ost v K32 4v S =620 Syd vE7 34 S =140 Vast v EKn8 34 V =-140
Alla + KD52 Ingen + K763 NS + 1073
*ED & ¢ v & NT #KD32 & ¢ v & NT #DKn862 & ¢ v & NT
«D1093 & KKn8 N 7 8 108 9 K32 476 N856 97 « DKn843 4 EK106 N8 7545
vKnl06 v4 S 6 8 108 9 vKKn9853 vD S856 97 v10753 vD64 S87545
¢+ E84 4 10963 06 4252 ¢ 104 ¢EDKNn952 0O 4 7 7 3 4 ¢ K64 4985 O56 89 8
#1093 #K8654 V64252 *64 10985 V47734 *K *E97 V568938
476 « E9854 475
v ED9875 v 10642 v K92
¢+ Kn7 +8 ¢ EDKn2
*Kn72 #EKn7 #10543
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
3 2 3NN+2 &5 660 40 0.0 4 1 44 S= *T 420 40 0.0 4 1 34V= *Q -140 2.0 2.0
6 4 4y N+1 v4 650 20 20 6 3 BNN= +Q 400 20 20 5 2 3aV= a2 -140 2.0 2.0
51 4v S= 43 620 0.0 4.0 52 2v0+3 +¢38 -200 0.0 4.0 6 3 340= 2 -140 2.0 2.0
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13 47642 Basta kontrakt 14 4 Kn53 Basta kontrakt 15 +Kn4 Basta kontrakt
Nord v 10963 5¢ OD-1200 Ost v8 5NT N =460 Syd v E983 34 S =140
Alla + 976 Ingen + D6 NS .-
#106 & ¢ v & NT #EKKn9864 & ¢ v & NT #D1076532 & ¢ v & NT
& Kn 4853 N9 2 2 102 4 E862 4104 N 108 101011 « 107 & K982 N 107 7 9 7
vKn54 v EKD2 S92 2 102 vE109 742 S 108 10109 vKnl10754 v62 S 107 7 9 7
¢ EKDKn843 ¢ 102 O 4 109 3 5 ¢ 7432 + K1095 035222 ¢+ Kn1086 ¢ E932 026546
+D3 #9542 V 4 109 3 5 +D2 #10753 V35222 &EK #Kn94 V26546
« EKD109 4 KD97 » ED653
v 87 v KDKn653 vKD
+5 ¢ EKn8 + KD754
#EKKn87 »- »8
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
4 1 56 V-2 a4 200 3.0 1.0 4 1 3NS+2 +2 460 40 0.0 5 2 44 S= a7 620 4.0 0.0
5 2 5¢DV-1 42 200 3.0 1.0 52 4vS+1 vT 450 20 20 6 3 24 S= &A 110 20 2.0
6 3 34 S+l  +A 170 0.0 4.0 6 3 3NN-1 +5 -50 0.0 4.0 4 1 44 S-1 v5 -100 0.0 4.0
16 & KKn96 Basta kontrakt 17 4 E9732 Basta kontrakt 18 453 Basta kontrakt
Vast v Kn2 3¢ N =110 Nord v 94 44 N =420 Ost vD10 24 O =-110
oV ¢ E842 Ingen 410532 NS + E8764
*K73 & ¢ v & NT »E9 & ¢ v & NT #KKn103 & ¢ v & NT
« D5 « E873 N7 9676 & Kn6 4 K1054 N 8 109 109 4 ED1098 4 Kn42 N6 8756
v 109 v EKD543 S7 9676 vDKn3 v1082 S 8 109 109 v 942 v Kn83 S6 8756
+ K653 ¢ Kn 054756 +D876 +¢E4 053334 +92 ¢ K105 07 4587
#Kn9854 #62 V547586 210874 #Kn532 V53334 £984 #ED76 V74587
41042 4~ D8 4 K76
v 876 v EK765 v EK765
+ D1097 + KKn9 ¢ DKn3
#ED10 »KD6 #52
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
1 3 240-2 ¢7 200 3.0 1.0 4 5 3NS= &4 400 40 0.0 6 2 2¢ S= +9 90 40 0.0
4 5 3v0-2 +9 200 3.0 1.0 1 3 3NS-1 +6 -50 1.0 3.0 4 5 INN-1 a2 -100 2.0 2.0
6 2 24 N-3 vA -150 0.0 4.0 6 2 3NS-1 &T -50 1.0 3.0 1 3 2NN-3 a2 -300 0.0 4.0
19 4 E8 Bésta kontrakt 20 » Kn64 Bésta kontrakt 21 4 86 Bésta kontrakt
Syd v K98 3¢ SD-1-100 Vast v 642 5NTV =-660 Nord v Kn654 4v N =620
oV ¢ 8432 Alla + ED54 NS + E106
+Kn764 & ¢ v & NT #E54 & ¢ v & NT #KD102 & ¢ v & NT
4 K953 4 Knl074 N6 8756 « EK103 4 D97 N3 2322 4 KDKn102 454 N9 6 107 8
vKn65 v743 S6 8756 v EKn v K1093 S32322 vE107 v 83 S 96 107 8
+ D7 ¢ KKn10 075687 4983 ¢ KKn107 O 1011101111 ¢ K43 ¢ D8752 03536 3
#E852 #KD10 V75687 &#KKn32 #D7 V 1011101111 *84 #Kn765 V3536 3
4 D62 4 852 4 E973
v ED102 v D875 v KD92
+ E965 ¢ 62 + Kn9
#93 #10986 #E93
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
4 5 INN+1 &7 120 40 0.0 4 5 3NV+1l &4 -630 3.0 1.0 3 5 4vS= 4K 620 40 0.0
1 3 4¢S-1 v6 -50 1.0 3.0 6 2 BNO+1 &T -630 3.0 1.0 1 6 INN+1 &5 120 20 2.0
6 2 INN-1 &K -50 1.0 3.0 1 3 3NV+2 v4 -660 0.0 4.0 4 2 44DV-1 9¥5 100 0.0 4.0
22 495 Bésta kontrakt 23 # K10863 Bésta kontrakt 24 ~ E84 Bésta kontrakt
Ost vD753 54 O =-650 Syd vEG3 4¢ V =-130 Vast vKD1086 34 N =140
oV ¢ EKn92 Alla + Kn6 Ingen + EKn9
#EK5 & ¢ v & NT *E75 & ¢ v & NT #108 & ¢ v & NT
4 ED86 4 KKn743 N276 25 « D52 s E7 N3 3554 » 106 « D75 N57 89 8
vE106 vKKn4 S27625 vKD10 vKn98 S33554 v E53 v Kn92 S57 898
¢D743 ¢ - 09 6 7 116 41072 ¢ EK954 09 97 88 + KD743 ¢ 106 076 333
*62 #DKn1097 V 106 7 117 #KKn93 #D82 V 10107 8 8 *K73 #E9654 V76533
102 « Kn94 » KKn932
v 982 v 7542 v74
+ K10865 + D83 + 852
#843 #1064 #DKn2
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
16 440+1 v8 -650 2.0 2.0 3 5 INV= 46 -90 4.0 0.0 3 5 2NN+2 T 180 40 0.0
35 464 0+1 8 -650 2.0 2.0 16 3¢0= 49 -110 1.0 3.0 1 6 24 S+1 &3 140 20 20
4 2 464 O+1 42 -650 2.0 2.0 4 2 34 0= a4 -110 1.0 3.0 4 2 340-2 v7 100 0.0 4.0
25 4874 Bésta kontrakt
Nord v K9 ANT N =430
ov + 876532
#KKn & ¢ v & NT
« E96 «D3 N 7 9 101010
v 753 v 10842 S 7 9 101010
¢ EKn ¢+ D94 06 4333
#109864 #D532 V64333
» KKn1052
v EDKn6
+ K10
*E7
Par  Kontr ut Res  Poang
1 6 44 S= ¢ A 420 20 20
3 5 44 S= 46 420 20 20
4 2 44 S= &T 420 20 20




